
x1pc10

x1pc11

x1pc12

x1pc13

x1pc14

x1pc15

x2pcs16

x4pcs17

x2pcs18

x6pcs19

x2pcs1

x2pcs2

x4pcs3

x1pc4

x8pcs55

x2pcs6

x2pcs7

x1pc8

x2pcs9

1

 

Assembly Instruction

2.Do not screw on the bolts too tight unless the
    installation is done. Make sure all bolts are tightly
   screwed before you use it.

1.Two or more people are required for assembly

1

2

2

3

36

4

6

5 x4

5 x4

7

7

8

9

9

3

3

10 

11 

14 

15

16

17

18

19

20

21

1

12 
13 

16

17

17

17

18

19

19

19

19

19

20

22

22

23

24
25

27

31

26

28 
29 30 

33 

34 

33 

34 

35 

36

27
32



x2pcs20

x1pc21

x2pcs22

x1pc23

x1pcB

x1pc25

x1pc26

x2pcs27

x1pc28

x1pc29

24

2

x1pc30

x1pc31

x1pc32

x2pcsB33

x2pcsB34

x1pc35

x8pcsA

x12pcsBE

x1pcBF

x2pcsBG

x14pcsBH

x68pcsBI

x68pcsBJ

x28pcsBL

x16pcsBM

x6pcsBN

x1pcBQ

x1pcBK

x1pcBU

M8x55

M8x65

φ6x30

ST3.5*12

M5*35

φ15x10

3x3

x44pcsBB

x22pcsBCM8x30

M8x12

M8x14

white zinc

φ7x40

x1pcBP5x5

x8pcsBDM8x40

x1pc36

x1pcBO

M8x20



21

3 4

3

x2

φ7x40
J 4pcs

φ6x30
L 2pcs

J

16

L

J

φ15x10
I 4pcs

x2

I

I

16

17

φ7x40
J 4pcs

φ6x30
L 2pcs

J

L

J

18

x2

I

I
18

17

φ15x10
I 4pcs

x2



65

7 8

4

φ7x40
J 24pcs

φ6x30
L 5pcs

J
L

J
J

J
J

J
J

J
J

J
J

J

L

L

L

L

φ15x10
I 12pcs

13

I I

I

16

19

19

19

18

13

20

16

18

13

φ6x30
L 5pcs

20
18

L

J J

J

J
J

J
J

J
J

J
JJ

12

φ15x10
I 12pcs

I
I

13

12



9 10

11 12

5

18

φ7x40
J 24pcs

φ6x30
L 5pcs

J
L

J
J

J
J

J
J

J
J

J
J

J

L

L

L

L

14

J J

J

J
J

J
J

J
J

J
JJ

15

φ15x10
I 12pcs

I I

I

16

19

19

19

18

15

20

16

18

15

φ6x30
L 5pcs

20

L

M5x35
H 3pcs

H

13

12

20



13 14

15 16

6

28

18

φ15x10
I 12pcs

I
I

15

14

H

29

M5x35
H 4pcs φ7x40

J 2pcs

J

28

14

15
20

M5x35
H 3pcs

H



17 18

19 20

7

28

φ15x10
I 2pcs

27

27

I

ST3.5x12
G 2pcs

G
G

U

26

26

27

27

M5x35
H 2pcs

H
32



21 22

23 24

8

φ7x40
J 10pcs

φ6x30
L 4pcs

30

31

J

L
J

J

JL

L

LJ

J

J

J

J

J

φ15x10
I 8pcs

I
I
I
I

30

31

M5x35
H 2pcs

φ15x10
I 2pcs

H

I

32

M8x14
B 8pcs

B
B

B

B

21
23

24
25

11

10

29



25 26

27 28

9

M8x14
B 16pcs

M8x12
A 8pcs white zinc

A

A

26

B

B B
B

22

22

M8x40
D 2pcs

D
D

M8x40
D 2pcs

4

3

3

3

3
6



29 30

31 32

10

M8x40
D 4pcs

D
D

D

7

7

8

9

9

M8x65
F 1pc

F

4

7

7

M8x14
B 4pcs

B

B

6
7

7

6

M8x55
E 12pcs

M8x14
B 12pcs

B

B

E
E

1

2

1

2



39

12

M8x30
C 14pcs

C

33

33

34

34

K

Stick Velcro

37 38

M8x20
N 2pcs

N

30
31

The screws in step 34 are not locked, 
and the holes in step 38 are aligned



M8x14
B 4pcs

BB

2

2

35

1

1

10

11

33 34

35 36

11
M8x30

C 4pcs

C

36

M8x20
N 4pcs

N

N

M8x30
C 4pcs

C

14

13

Screw locks in 50%, not tight.



40

41

13

5 x8

M

M 16pcs



Finish

42

14


